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Yes; after Ezra punished them — NIV 17901P7 02 PN

OVERVIEW

X"awn stated in a XN*92 that PWRY Wwyn is a 9% AN, The X nx explained that
this follows the view of ¥"2aR2 who states 1727 AR WK VA, even XNPIIRTA (as
opposed to ¥"1 who maintains "% WX 2wyn). The X713 continued to explain that'
XTY 10397 N2 the Twyn was given only to the 2°37> and not to the 2% and
therefore WX wyn is a m70% Apm. Our N»dOIN will be discussing whether this
view of 0°1%% K91 021709 X1y 03p is according to ¥"aRN only or is also according to
y".

- 2993199 N NDIP 9N2 MY KPIT 91 RDIP NPT NIDY 5399
So according to ¥''9 that before the o1 of X771V the "wyn was specifically only

for the 2%, after the 21 the 7wyn was given also to the 23171 -
- NPT 1099 91 RDID 902 1795 R M0 ROIP SDPNT D91 12 9TYIN ¥29Y Yan

However according to »''289, that before the ®1p the "wyn was given also to the

172; after the ©ip it given only to the 372 and not to the »%; according to this

understanding -
— NIYPY 295 KDY H91Y 12 MTYIN 2290 NONN NNNIY NPIN PYNY TUYNT XM

So this which X"awn stated that 2"wy» is a m75% AP is only according to

Y''aR", but not according to ¥''9, who maintains that even 01p nX? the 1"wyn was 1709
9.

Nv0IN mentions an alternate view:
= N2PY 2299 199N 9N NITY 1NI0IPT 9N 9INPT NNT DIV 31’N PPOMY YN

And there are those who erase the word 'PR'; and they explain this which the
Xm3 answered NITY 7°01p7 N2 (the 1"wyn is only 2°1709) is valid even

according to ¥''1 -
— NN 195 1) XPYT 119D Niabdy »519D %N ROIP 9Nad

For after the ®ip, the 7"wyn according to everyone (even ¥"7) belongs only to

! See 2,59 nn2° that X1y punished the 0>% regarding their receiving “wyn, since they did not return from 721 to *"X.
See u? > nm1 which states: n°37 D71 28 Wi 37 Wyed Wyn MY 7Y 0077 0070 WY 07 0Y 10N 13 1790 )
7¥ix;7. The exact nature of this 01p will be discussed in this ndoON.
2 This is a sufficient o1p, for now the 012 will have to share 1"wyn with the 2°17.
3 According to our X073, the X%3 responds to the question 7K *» M99 X1 1797, by answering 1'X; indeed so, ¥"2x"
maintains after X7y 01p that Wwyn is given only 0°173%. However if we delete the word 'PX', it seems that the X3 is
retracting its original approach that X"2w1 is according to ¥"ax7 only, and now maintains that he is ¥"3% (even
according to ¥"), since after X1y 01p all agree (even ¥"1) that 2"wyn is 2127 X1 1797.
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the 3772 (and not to the "19), and the answer X71¥ 171°0177 102 is like the 873 would

have said 'S”R';" meaning we are retracting the previous answer (that it is ¥"ax27 X2°>x) and
are now maintaining that 71757 7Pt 2"wyn is according to everyone (even ¥"). This is the view
of the o wHom Ppmaw w°.

mooIn disagrees:
= NP 92 4N MDY PYNI TUPNT N NMIPN NN XNT D722 NN VI

And they are mistaken, for in many places it is evident that 2'"'wwy» is given to

the " even after the X1y 01p -
- 55919 117599 W99 MPAY 9N NXY NN IR MYN MDD (5 97 po VIN 93 P93 PNTD

As the mw» taught in w7 92 P95, one who lends money to a 37> and a "% in

order to separate on their account, etc.
- 2153 TPANY YN 13 MY 129 IRY IXIY? NN BNN 19

And similarly there in the X723 where it states, a X" who said to a " ‘I have

in my possession a "> of "ww», which belonged to your father; indicating that the
"9 receives the Wwyn -
- RYA M1 PYURA TUIN P99 (0w 3,05 poiny $YITD P93

And in »17177 P2 the X713 asks, but 2"wyn2 belongs to the "1» -
= N2YPY 2295 1990 HM1MIPN NN 199

And similarly in many places it states that 7"wvn is for the 0%, so all those N

are according to ¥''9; if however ¥"1 also agrees (to ¥"ax") that after X1y 01p the "wyn
belongs 177127, whose view are these M3 following?!

mooin offers a different proof:
- A3799 NPIN 91 957 DIYY KOIP ININT INNYT 11y

* See HXIMW 7N R,TD M2 who states: 9NN RNAR DY 1N KOW DY XOK IORP K27 K. See *"10.

> A person lends money to a 773 or "> and makes an arrangement with them that in lieu of payment, when the lender

separates the qwym 770 from his crop (which he is obligated to give to the 121 175 respectively) he will retain the

Awym 70 for himself (he will sell the 72170 and may keep the 7wyn) and deduct their value from the amount they

owe him. It is evident from this 71wn that the wyn can be given to the M7; otherwise how may he deduct the s™?

loan from the “wyn, if the "7 has no rights in the wyn.

619 Ty ow.

" The X3 there cites a Xn*™2 which states that we are not ¥ the "1 171 from a 172 to another 175. The X713 infers

from this that we are X*¥W from a 17 and give it to the 372 (as 772 N1INY); proving that a "7 is 71175 MInKa 27mA. The

X713 rejects this proof, saying that ¥177 means “wyn. The X123 asks but the "wyn belongs to the "17; why are we XX

"3 195 Mo, WY,

¥ mooin will disprove the view of the 1prma w* that the ruling of AN 7Pt 2"Wwyn N9°3X is even according to ¥".

There is a dispute in Nn2* (mentioned here in N®OIN) to whom did X7y award the “Wwyn; one opinion is that he

awarded it to the poor, and another is that he awarded it to the 2°173 (so they will have food to eat when they are Xnv

and cannot eat 1N [so they are considered poor]). It is obvious that if it was awarded to the poor, then 1"wyn n9°98

cannot be a 1757 7P, for perhaps the ‘eater’ is a poor person (and not a 3713). Moo will shortly prove that this
2
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And in addition according to the one who maintains that the o1 of X1V was
that 1"wyn should be given to the poor instead of to the 0>m%, how can 2"wvn n°OK
be a 729772% ;P13 Moo expounds on this proof -
- (ow1 350 M) MM YO P99 DA 31999 NaYPY Y297 NIPYNT
For this argument in n19nm @ P99 is (only) according to »'' -
= D293Y9 9INRT INNY NRIIN) 02N NDIP MNT INND NIINT
Where there is one who maintains that the 2"wyn 81 was given to the 23170
and there is one who maintains that it was given to the 2%1¥; this argument is only
according to ¥" -
- IRDIP O1YD 1195 ©3PYYY 1T59N) 1199 NPYT $N 7R 13 TRYIN Y2994
For according to »''aR" the "Wy is only for the 3715 (and not for [PXw" 7717] »1v)
and even for the wealthy 0°1772 as it was before the 21p -
= 19Y 9NY XY DOIP NYT
For X91v did not punish the wealthy 20°175 since they went up from %21 to >"x; not
like the 0°»% who did not leave %22 and therefore X719 punished them. Obviously the view of Xoip
0°°1v% cannot follow the opinion of ¥"ax", it must follow the opinion of ¥"9 that initially 2"wyn

was only for 07 and after the 01p it was for 0% and for either 0°1775 or 0¥ according to the
two 7"n."°

mooIn responds to an anticipated difficulty:11
= DYDY NPT 0NN YNYUN DYH NDIP 9INT INIDY
For it seems there that the 2>y Xo1p 7""» maintains only 271y -
= 97 0¥ ARML %27 72D DT RNV 192 199N DY9IYY DN2Y XYY

dispute (whether 017 Xo1p or 2°1372%) is valid only according to ¥"3 but not according to ¥"aX7, who must maintain
0°175% No3p and not 0715, Therefore the ruling of 7175% Apm 1"wyn can go only according to ¥"ax1 who maintains
unequivocally that 0°173% Ro1p; however it cannot go according to ¥"1 since he can maintain 0»1v% RoIp. See
‘Thinking it over’ # 1.
? y"ax7 maintains (see X3) that (before the 01p) the 1"wyn was for the » and the 1715 (all 2°373). There is no reason
to deny them the rights they always had, since they did nothing wrong. All agree that according to ¥"2ax" that Roip
0°17137 and not 017, the 0% Ro1p 7"1 is only according to ¥".
' Once we establish that the opinion of 0™ Xo3p can be only according to ¥" and not according to ¥"ax", it
follows that the rule of 711757 fpT 1"WwWyn is only according to ¥"ax1 and not ¥, for since 0192 X01p how can 1"wyn
by a In37 7PN, the eater may be an ™7 *1¥ and not a 372.
" moon entire argument is based on the premise that o»1% Xoip 7"» cannot be according to ¥"ax7 but only
according to ¥". Therefore there is no purpose in trying to establish the 73777 of 71757 [pm 1"wyn according to ¥
(in order that this 712977 be ¥"139), since it cannot be ¥"3% for it cannot follow the view of 0°°1v% X01p, so it must be
only according to ¥"ax", since according to him there can be no 0»1w? ®oip for why deny the 2°175 their due (see
footnote # 9). Let us assume, however that the 0192 Rolp 7"n is also according to ¥"aX"; meaning that the oip
(according to this 7"n) was for the rich 0% not the poor ones (and no o1 for the 0°175 even the wealthy). If we
assume this, it will be obvious that the ruling of n75% 7pIn 2"wyn is only following the view that 0°173% Xoip,
therefore it is possible that this ruling 7117737 717 1"wyn is both according to ¥"2ax1 and ¥ for X"2aw is following the
view that 0°372% R0Ip. MDOIN negates this possibility that 01w Xo1p can follow the view of ¥"axn.
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But not for wealthy 2°177> even during their 782 days, for that 7"» disagrees
that 8% "2 09170 are 2w,

In conclusion the view of X"aw" that 111757 7P 2"wyn is only according to ¥"2a81 who maintains
0°379% Ro3p only and not 097 at all. However ¥"1 maintains 0°175% X03p or 0% and therefore
2"wyn cannot be a nN12% AP for perhaps he is a "1v.

Moo (seemingly) digresses: '
- ¥53n91 HNIWS %3y KDY NPIT DNY %3y WADY PN ONNT I

And we cannot interpret the 21> xoip 7"n there to mean that it goes only to

2% "1y, but not to 253721 HRIWS MY -
- by XYW 1123 0919 993 1990Y) 19 ONT

Because if indeed this is so, it will turn out that the 2% "1y gained by not
ascending to >"x —

mooin offers another proof that 0»1v% X0 does not exclude 0°372 1y -
- 5551 191 XYY 99195 DY BNRMV 1353 0N NN 1IN DN YPYNT TN

And additionally it seems from the X2 there that if the anNmw S»sa 217>

would be considered 21y, everyone would agree that the 2°177> receive ~"vyn -
- annm 17599 XY 1991 INIYID NN WD DDA PIvDT 23 Yy 9N

Even though that (according to ¥"7) regarding the distribution of "wy» the 172 is
like the »X=w», for the 77 states that “wyn belongs to the "% but does not

mention the 3713, therefore we cannot assume that 2>°1y% X01p means only 217 ™1V -
= ©9%9 )Y 12 DN IY P2 D1IYY NIN

2 See footnote # 8. The o1y Xoip 7"» does not agree with the 0°379% X03p 7"» meaning that he does not consider
INRMIL 702 0% to be 0*1; otherwise he would agree that 0°375% X01p (so they will have what to eat JnR= "°2).
Therefore we must conclude that according to the 0»1v% &oip 7"n, the 0°1375 receive no 2"wyn and this contradicts the
view of ¥"aR" that the 0°17> must receive 1"wyn as they always had.
" It is perhaps the intent of N2, once we discussed the 0™y Xo1p 7" to explain in detail what his view is. See
also R"waim 2"wann.
'* This interpretation would seemingly be justified, since initially 2"wyn was for o™ exclusively (following the
view of ¥"9), it would be a sufficient 03p if the 0wy 0% would not receive 2"wyn, but only the 01w 0™7; there
seems to be no need to give it to all 0»1w including 278 W™ D370 1. MDOIN negates this view. See ‘Thinking it
over’ # 2.
'3 If the o7 »1v would be 771, then (seemingly) X1y would not have punished the o> at all (since some of them
were 7171v), and the 2”1y 2> would have to share the 2"wyn with the 0wy 0™5. But now that no one was 72, the
o1y 017 will get all the wyn without having to share it with the 0wy 0% and not with the 0°373 191 S8 »1w. It
is a case of ">w1 xvLIT!
' See footnote # 12.
7 There is no special reason to give it to the 00 »1v ([even] if we assume 0% R0Ip) and not to PR
according to ¥"1 (that 1"wyn is only 217%), unless we assume that 01> Xo3p means all o»1y.
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But rather 21> means both to 23772 v and 29 1Y, and regarding X2 1w it
depends -
— INIY) $93Y 199N 29D P01 A, PURI TWIN ININT INDY)

For according to the one who maintains that 9'"'wy» is permitted to be eaten by

277, then even YR%° M1v receive 2"wyn -
- 199915 15 INAWS %395 1NY AN PR DY NONR MMINT IN1IY Yax

However according to the one who maintains that 1"wyn is forbidden av91Y, it
does not seem proper that it should be distributed to ®X="w> v so they should

sell it -
= 11999919 SNNX NNPYT YNNI NIINT 1929 19PNNR RY NHPN 7D INNT NNYINT

For the 1229 will not institute an enactment which can cause a hazard; namely

the Yx7v"° 1y may come to eat it if it is given to them -
- [9999 ©5919 MR IMINT NN 2395 PNoyasm NY 791903 9INT5]

[as the X925 shortly states, there is no question that we do not distribute 2"wyn
0>17 according to %' who maintains that 2"wyn is 2519 28R, etc.]

mooin clarifies further the view of ¥"1 (according to the 0»1v% Ro1p 7"7):
= ©23N9) INIYID INNHVYND DI D1 DMDN NN RITY YIPON KD NIPY 239

And according to ¥''1, Ezra did not exclude the 299 completely and compare

them to ®X=w and 2°1715, meaning -
- zoﬂ”)” NN 0Y Y ROHN 0IMY DIPVUY 190 NOY

That the wealthy 2% cannot receive 7"wy»; only the poor 29 may receive it

as paupers, but not as 217, this is not so -
- YNNANY 1NN D52 NIMTI BHIYY DIPIIN 1N DIIPVWY 12 DY )P BINYY NN

But rather they would always distribute 1"wvn to all 29% whether a1y or

2wy, as is evident from all those places which I brought proof from -
- 20195 nIna 19509 PV

Where they would receive 1"wyn on account of their n1"» status.

mooIn offers an additional proof that (according to ¥"9) the 2% received M"% nN2 Y "wyn:

18 371 here would mean D98 Ww> (non-0>7 2°1770). See the X3 here (and X, Mn2).
' The reason it is X2 &> (certainly M0K) is because of the concern 1238 X2° Xnw.
0 This would seemingly be justified, since X7ty punished the 0™ (because they were not 7222 72W), we may
assume that he punished all the o™7% except he allowed the 2™% *¥ to receive Wwyn as 0w, but not as o°™>.
However mooin negates this view.
U If the reason the 0™ receive 1"wyn (as in the case of 197 NX Moni7 mentioned previously) is because they are
o1y, then why mention *Y?, the 73w should have mentioned *1v7 nR M7n1, since that is the reason he is receiving the
7"wyn.

5

TosfosInEnglish.com



902 PR "7 '01N R,10 M12Ind L7023

= (/0 mwn N P9 2w uyn) NN 12 YYINS 229D IYNRI WY 1NV N0 INIDNI)N 1397 TV

And furthermore when ' gave his 2'"'ww» to 1''291 in the ship -
= N2YPY 2299 113 0¥ AU S9NV 1Y UM 23 19D 21 XY INNN 1Y 291 HIY NN ON

If he gave it to him because of his pauper status why did not 2"1 also give to

"2 the %1p "wyn, for he gave the %1y wyn to ¥'". Therefore we must say that "2
received 1"wyn regardless of whether he was poor or not. This proves that 0% received 1"wyn
N> n7Ina and not (only) N1y 7702,

mooIn rejects this last proof:
=19 103 HMIY HNN2 ONYDT MIINTD W 11715109

However it is possible to fend off this proof, that indeed v"2 gave 1"27 the

nPIY NN N"wYn -
- 1T DINNM 1Y 1NY 295 %Y TWIN 1Y 1N XYY N1

And the reason he did not give him 1» swy» because he owned two hundred

Y-
= ('n mwn’n p19) NND NIVNA 1INTI %Y TYYNI DI 1IINT

In which case he may not take 1 9wy» as the w2 rules in 78D noon -
- 207 0NN 19 Y 1959N DIV PUNA UM Yan

However 2"'wy» he may take even if he has 17 230K (even if he is receiving it nmna
n71w). MmooIn proves this point -
- 2yn3%) £y ANMIV 21092 DIPUY D315 1TPANT VINT INDY NIIN NN

For there is this view that even R0 9% 2wy 2% are considered 21y so
certainly one who has 117 0°n&» and is poor may surely take N7y n7IN2 Y"wyn —

One more rebuttal to the last proof of 2" in the ship:

TINN YD PININND DD 1D NN XTI
And finally (even if we assume that he received the N1y 7702 71"wyn) 3"7 did not
want to give all his offerings to one "1¥; he wanted to spread it out amongst many o»w.**

SUMMARY

** Regarding *1v 7wyn, which Xn» 72 must be given only to the poor therefore we are stringent that one who has
more than N7 2NXM cannot receive *1y Wwyn. However regarding 2"wyn where Xn»11x771 all 07 receive it, therefore
even though there was the X1y 01p that only 01y receive it, we need not be so stringent as not to allow anyone who
has 11 0™nRn to receive it but rather anyone who is poor may receive it even if he happens to own 111 o>nXn. See
‘Thinking it over’ # 3.
» These 2°315 had more than 171 0»nxn and they certainly would not be permitted to receive "y wyn even ™7
1nXMY, and nevertheless there is the view that 171°1 01y XML 1 WY regarding 1"wyn, so certainly one who just
has 117 »nXn is eligible to receive 1"wyn.
# See 1101 71"7 2,8 "2 *"wA that ¥ was a 7pTY X2y, so it would be distributed to many poor people.
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¥"2X7 maintains that after X719 01p the 2"wyn is only 0°175% and not 0y 2%
(and therefore can agree that 71372 1Pt 1"wyn). According to ¥ (even) after 01p
X1y all 0% receive 1"wyn together with either all 23715 (2°172% RoIp 7"1%) or with
0°170 1 (and 22719 0 2"wWYn 7"% ORI 1) according to the 0°°1vY XoIp T"A.

THINKING IT OVER

1. m»doIn asks that according to the 0»1vy% Xo1p 7" how is it possible that 2"wyn
should be a 2% [pm.” However why cannot we say that the 0™w» Xoip 1"
means 2°1715 *1v7 only (and the 2°170% X01p 7"n meant even to DMWY D’JHD)?!26

2. mooIn rejects the view that 0197 ROIP 7"n7 it means only 2”17 v and not 1y
2°1719.”7 How can mpoIn even entertain such a thought (that the o175 1w did not
receive 7"wyn) when the p1oo states™ 277 ya onva av IR 12 197 0,
indicating that the 0°171 took the qwyn (together with the 0™%)?%

3. mvoIn questions why did 2"7 give to 12" only NWXRA Wwyn and not "1y wyn (Gf
we maintain that 0> X01p means only o™ %) Why cannot we answer
simply that initially 1"2°7 was an °1v, however after 31 gave him his 7"w¥» he was
an 7°¥Y (he had more than 17 2°nXn) and therefore could not accept the *1v wyn?

5 See footnote # 8.
% See X"wAmm 2w,
7 See footnote # 14.
2 See footnote # 1.
¥ See (T1X:) X"wn and D°278 NPK.
30 See footnote # 22.
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